5.9 Max /mia problems Cpact 2)

4\

Y= fx) GLXLh thea the cbnlute MOk /min of fix) can

be at the Onds of the wtorvel or et Critical pts ‘astee the

tatorva |
)l ¢ 6.bs. meax
: Procedu : fiadl all 1aterior Criteal pis
’\/ Canpart fie) ct tha cutignl pic
- lﬂ:f 7y Gl ot Crols & Lol mew/man
“ GYS. A\ o

e: -Fut,l) 8 fufer cnel dameia iS 6

'”I‘M ;Q *3-"“(
ool the. bownolodies ace Curves

e besic e 13 tha seuma find el interier critical pts

then {ind el Potsinie loctatmns o

mer/min on Gha bowndenes
than Gnpit {ov,y)



§3 050
£3 %50 \i “o Naﬂlhvfd:)%vnaﬂ{q%ﬂw.
Yo W/ mow Py



[ | 1€
A LCh | _
el

<3 M 0X
“1Vv
\\\
K \\
\\\\\\
l 1 | A s m

0 w .%A.. hu ....»A 1=A) = Ah.«l‘n z
jo ¢..$\x<«:%§.v;



Cremple 2. Ft*.3)= Xz-t-j"-zb‘&jwo
€ind max/min cbove vhe enw#g'e with vevtows (0,0), €O, &%)
(%, a)

Porsbolait @ - ,Fu,vj) ® (x-n)l* ‘3 -l)lf,S'
f:ad the o foin of -Cw,vj) :ar.u.g’ the Yviongle snd on
tha Bewuwj of ke transie

notin la twensle con be broken clow. wta Potts
] on O O$XE€Y y=oq

® IS oexey

¢ 2
Q) 0%yiYy, xzo
4

&
Q ®
o

frad cvrticed pts iasida tronsla

thow locetvns o MEx /o an @ Ch e.(”
b eon-rare



Hod ratevor chtieel prs 1, e, Hyro

P 1 TET] ek o gt e
Jo we keep it

"3 < z:-‘t=°

nows «wR look co @
Y=o, 0¢NEY

-Fl.*.jh‘ xzi-’"suw-j-l-lo becames -fus:x‘-u-\-oo. OS¢ty

netin thit it redued O q

One - vaviahle CAS A rer/oin rno;.
Critiead pts i fleeys WAL 20 = yu
énds: x2=o Y0 = {ld,o)]

2%, Y:0 - ‘(Q-,c))

, Yso o ,(I,O)‘




on (3 Jrh-x  ocxey

\—L

-Fu,',): x‘+~j o ~%y 410 becames

]
-th s 2X -BXHD. oéxney €iar, & s -vamelle gug Me%/min

’
.ch):tnc-6 SO0 - 223/1 " MEA X ='*-3/; =’/),
| ¢ %, ‘73)\

20, §3ux = (to, )]
2R, Yr4p = l"". °)7

on @) iz, Y

-(u,-p: x"-r'j"-ud«rho becomes

£095: y vy wo oty Ly

-ku....a.: the semt proadue ¢y o D ot D We Jet
the foltawng paints of interst | t0.2), ¢o,0), “"‘*A

Cndls:




"W we npart {-u.j)e x”-&j"-zx«uj t10 Gt €adn of tChote points
of ‘aterest

“(l,l)t Ly = obs, mia ak £, Y=, 6 ¢t=§

(vertey )
$to,0) = 10

£040) = (2 o abs. max at ¥=¢ $so, fery):z 1@
£Co,%) = 10

$0R, 7)< VY,
£, vy &
€C,0) = §



0L 1eAeT
| 0A
0X

0 n&» xndn.ﬁx »;fwnm




&bt
?_!_:12 Feadt ner fonin of -th,\’\: )(zi-jlv&;t +7 - P&retoleid

clave the region x‘-c-g‘ € - ciecle
findd ktsheﬂ /lowerst ow the fm‘o(o.'d above tha cCicle
3 *2*‘1"3 XY

9= Jas-xt Cupper)
2 VT “Jagant (lonay)

-g ICP= ¢ ?.o)] It il insida ehe restmcted G€a ?
' Yes<, 5o we keep i¢




b* uél...ﬁ Y r = na._us\w. =3




@ o ‘
rowi ledS travel dtn: é =l’;f.xt Cm.& Yy ~Jar-xt , “Féxes

x2+,j‘=z$ —
-ftx.y T teytobr e 9
k——v—a
(3}

fer) 3 3% ~4x ~$SeLes

£'2 <6 ne etvitear et
Cals: : -5, 'Ieo -y _C:S‘.o)
25, Yzo o (;-,ofi

Conpore: L (3,6) =+ ©
£0-5,0) + &q
€Ly, 0y 2

&53. Lo, '.\

Gos may



ef__&i't Whet point on the plese 32 Yy +t:6 o
clofert ta R ovigin?

2 : *
C et g (R0

clotest ta aW§in i minimige distancy

’ 1.
d-‘ (%-0) <% (3- Q‘\* ¢ -ﬂ\l M:A‘M:u "‘\0”
‘Jm while ?*-0!34-“6

, O 3. (y.
% "‘L*'f*(‘-h-zpz ez 6~y Ry

Staee. Adatenr 20 o MIATATL o(" i3 &cxw«(ut

S0 mintmiga ftv,3)= A2 x(‘-\-'j"'-n- (8- 3x-2 ;"
fra‘ cp G‘;o. ﬁ;o than @i 2nd Oery, Test



